



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(\frac{3}{4}\right) + \frac{3}{5} =$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^3 + \frac{3}{5} =$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right) - \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^0 + \frac{3}{5} =$$

$$\left(\frac{3}{5}\right)^3 - \frac{2}{5} =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right) + \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^0 - \frac{3}{4} =$$

$$\left(\frac{1}{4}\right)^0 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{2}{5}\right) + \frac{1}{5} =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{3}\right) + \frac{1}{2} =$$



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(\frac{3}{4}\right) + \frac{3}{5} = \frac{27}{20} = 1\frac{7}{20}$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{1}{6}\right) = \frac{113}{192}$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(-\frac{2}{5}\right)^3 + \frac{3}{5} = \frac{67}{125}$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} = \left(-\frac{23}{50}\right)$$

$$\left(-\frac{1}{3}\right) - \frac{1}{2} = \left(-\frac{5}{6}\right)$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{1}{2}\right) = \frac{1}{4}$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{4}{5}\right)$$

$$\left(-\frac{1}{2}\right)^0 + \frac{3}{5} = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(\frac{3}{5}\right)^3 - \frac{2}{5} = \left(-\frac{23}{125}\right)$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{18}\right)$$

$$\left(-\frac{3}{5}\right) + \frac{1}{2} = \left(-\frac{1}{10}\right)$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{13}{48}\right)$$

$$\left(\frac{1}{6}\right)^0 - \frac{3}{4} = \frac{1}{4}$$

$$\left(\frac{1}{4}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{2}$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{1}{6}\right) = \left(-\frac{1}{3}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{29}{40}\right)$$

$$\left(\frac{2}{5}\right) + \frac{1}{5} = \frac{3}{5}$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{31}{180}\right)$$

$$\left(\frac{1}{3}\right) + \frac{1}{2} = \frac{5}{6}$$